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Контрольное задание 1


Для того, чтобы выполнить задание 1, необходимо усвоить следующие разделы курса:

1. Имя существительное. Множественное число. Артикли и предлоги как показатели имени существительного. Выражения падежных отношений в английском языке с помощью предлогов и окончания -s. Существительное в функции определения и его перевод на русский язык.

2. Имя прилагательное. Степени сравнения имен прилагательных. Конструкции типа the more ... the less.

3. Числительные.

4. Местоимения: личные, притяжательные, вопросительные, указательные, неопределенные и отрицательные.

5. Форма настоящего (Present), прошедшего (Past) и будущего (Future) времени группы Indefinite действительного залога изъявительного наклонения. Спряжение глаголов to be, to have в Present, Past и Future Indefinite. Повелительное наклонение и его отрицательная форма.

6. Простое распространенное предложение: прямой порядок слов повествовательного и побудительных предложений в утвердительной и отрицательной формах; обратный порядок слов вопросительного предложения. Оборот there is (are).

7. Основные случаи словообразования.

Используйте следующие образцы выполнения упражнений.

Образец выполнения 1 (к упр. I)

Грамматическая функция окончания -s. 

1.The population of  Kharkiv region is over than 80 nationalities. 

Население Харьковской об-ласти свыше 80 наций и народностей.

Nationalities — множественное число от имени существительного  nationality  национальная принадлежность.

2. Kharkiv region borders with Dniepropetrovsk, Donetsk, Lugansk, Poltava, Sumy regions of Ukraine and Belgorod region of the Russian Federation.



Харьковская область граничит с Днепропетровской, Донец-кой, Луганской, Полтавской, Сумской областями Украины и с Белгородской областью Рос-сийской Федерации.

Borders — 3-е лицо единственного числа от глагола to border в Present Indefinite.

3. Over one thousand and two hundred specialists in the Kharkiv region have a Doctor’s degree.

Более тысячи двухсот специалистов на Харьковщине имеют ученую степень доктора наук.

В слове Doctor’s  ’s — окончание притяжательного падежа имени существительного в единственном числе.

4. Our scientists’ achievements in the field of nuclear and low-temperature physics are very important. 

Достижения наших ученых в ядерной физике и физике низких температур очень важны. 

Слово scientists’ — форма притяжательного падежа имени существительного a scientist во множественном числе.

Образец выполнения 2 (к упр. II)

Особенности перевода на русский язык английских имен существительных, употребляющихся в функции определения, стоящего перед определяемым словом.

1.The scientist works at some problems of low temperature physics. 

Этот ученый работает над некоторыми проблемами физи-ки низких температур.

2. Water plane area is more than 86 square kilometres.

Площадь водного зеркала — более 86 км2.

Образец выполнения 2 (к упр. V)

Slobozhanshchina contributed greatly to the cultural treasury of Ukraine.

Слобожанщина внесла значительный вклад в культурную сокровищницу Украины.

contributed  — Past Simple Active от стандартного глагола to contribute.
Вариант I

I. Перепишите следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -s и какую функцию это окончание выполняет, т.е. служит ли оно:


а) показателем 3-го лица единственного числа глагола в Present Indefinite;


б) признаком множественного числа имени существительного;


в) показателем притяжательного падежа имени существительного (см. образец выполнения 1).


Переведите предложения на русский язык.

1.  Kharkiv region occupies the north-eastern part of Ukraine.

2.  The nature reserve fund comprises 166 nature reserves.

3.  People’s culture and traditions are worth exploring.

II.Перепишите следующие предложения  и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным (см. образец выполнения 2).

1.  Yuryev Kharkiv Plant Institute introduces into production varieties and hybrids of farm crops.

2.  Several Kharkiv University physicists work side by side with the American colleagues.

3.  The grinding machines of the Machine-Tool plant are in great demand on the world market.

III.  Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.

1.  According to the World Bank assessment, our region is the most perspective one in Ukraine.

2.  This technology is more advanced than that one.

3.  The wealthier is the state, the better is the people’s standard of living.

IV.  Перепишите и письменно переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1.  Any student of our group can speak on the history of Kharkiv.

2.  No park in Kharkiv is as popular as Gorky Park.

3.  Some day students of your group will meet each other and have a good time in the park.

V.  Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык (см. образец выполнения 3).

1.  This student came to the city of Kharkiv in 1998.

2.  In a few days he will leave for Kyiv.

3.  Ukrainians like other nations have many traditions and holidays.

VI.  Прочитайте и устно переведите на русский язык с 1 по 7-й абзацы текста. Перепишите и письменно переведите 1, 2, 3, 6 и 7-й абзацы.

 Kharkiv Region

1.  In the remote past the Kharkiv region was a part of the great road followed by a number of peoples on their way to Europe from Asian vast areas.

2.  The Kharkiv region is one of the largest industrial and agricultural regions in Ukraine. It produces nearly 7 per cent of the gross domestic product of the country.

3.  The following industries dominate in the structure of production: metal-fabricating industries, food industry, electric-power industry, fuel industry.

4.  Agricultural output of the region as regards grain cultures and whole milk production is the 5th highest in the country.

5.  The electrical engineering industry of the city of Kharkiv is represented by the plants, research and design institutes.

6.  Food manufacturing and processing industry in the region includes more than 150 enterprises and organizations of different forms of ownership.

7.  As regards some kinds of food products the region possesses a significant export potential. These are confection, canned milk, strong drinks, margarine products, granulated sugar, champagne.

8. The pharmaceutical industry of the Kharkiv region is unique with regards to its potentialities. The Kharkiv region provides the population of Ukraine with the vital medicinal preparations. 

VII.  Прочитайте 8-й абзац и вопрос к нему. Какой из вариантов ответа соответствует по содержанию одному из предложений текста?


What does the Kharkiv region provide the population of Ukraine with?

1.  ... with household electric goods.

2.  ... with lathe tools of all types.

3.  ... with the vital medicinal preparations.

Вариант 2

I.  Перепишите следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -s, и какую функцию это окончание выполняет, т.е. служит ли оно:

а) показателем 3-го лица единственного числа глагола в Present Indefinite;

б) признаком множественного числа имени существительного;

в) показателем притяжательного падежа имени существительного (см. образец выполнения 1).

Переведите предложения на русский язык.

1.  There are many good arable lands in Ukraine.

2.  Ukraine covers the area of 604,000 square kilometres.

3.  Ukraine’s climate is mild.

II.  Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным (см. образец выполнения 2).

1. On the 16th of July, 1990 the Supreme Soviet of Ukraine adopted «The Declaration of the State Sovereignty of Ukraine».

2. The students of our group will go to the State History Museum tomorrow.

3. «Prospect Investments» actively cooperates with the Ukrainian Securities and Exchange Commission, the State Property Fund and other ruling bodies.

III.  Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.

1.  The more I thought of that plan, the less I liked it.

2.  The quicker we finish, the sooner we shall go home.

3.  Kyiv happens to be the oldest city in Eastern Europe.

IV.  Перепишите и письменно переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1.  Do you know any foreign language?

2.  There are rooms for performing artists to change in before their performances which are organized in the Mariyinsky Palace on some special occasions.

3.  Any exhibit of this museum is valuable.

V.  Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык (см. образец выполнения 3).

1.  The Mariyinsky Palace is an elegant architectural landmark.

2.  History of Ukraine spans many centuries.

3.  Ukraine-Kyivan Rus was converted to Christianity at the end of the 10-th century.

VI.  Прочитайте и устно переведите на русский язык с 1-го по 3-й абзацы текста. Перепишите и письменно переведите 1-й и 2-й абзацы.

Ukraine

1.  There are almost two hundred member states of the United Nations. Ukraine is one of them. In fact Ukraine is very richly endowed by nature with mineral resources, with hundreds of rivers and thousands of lakes, with shady forests and rolling plains, with extremely fertile soil, with enchantingly picturesque mountains.

2.  You may 
be surprised to know it is the biggest country in Europe (with the exception of Russia), bigger than France in territory, and is among the biggest in population. The capital city of Ukraine is Kyiv with a population of about 2.6 million people.

3.  Ukraine’s climate can be described as temperate continental, and the southern Crimean coast can be easily called subtropical.

4.  The largest river of Ukraine is the Dnieper which divides Ukraine into two roughly equal parts, often referred to as the Left Bank Ukraine and the Right Bank Ukraine.

5.  Ukraine is an independent country. The Ukrainian Constitution defines it as «a sovereign, democratic» state. State power in Ukraine is exercised through its legislative, executive and judicial branches. The highest legislative power in Ukraine is the Verkhovna Rada. The Cabinet of Ministers is responsible to the President of Ukraine, and accountable to the Verkhovna Rada.

6.  There are about two hundred banks in Ukraine, the majority of which are point-stock enterprises. The national Bank of Ukraine is trying hard to maintain the stability of the national Ukrainian currency hryvnya.

7.  Ukraine is a country of ancient cultural traditions many of which have roots in the pre-Christian times. Ukraine has its own national music, architecture.

8.  Ukraine is a marvellously beautiful land. It has resorts in the mountains. Ancient monuments, architectural landmarks dating to early and late medieval times, museums, concert halls provide an inexhaustible source of attraction to those who seek culture.

VII.  Прочитайте 5-й абзац и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос:

What is the highest legislative power in Ukraine?

1.  ... the Congress

2.  ... the Verkhovna Rada

3.  ... the Seim.

Вариант 3

I.  Перепишите следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -s, и какую функцию это окончание выполняет, т.е. служит ли оно:

а) показателем 3-го лица единственного числа глагола в Present Indefinite;

б) признаком множественного числа имени существительного;

в) показателем притяжательного падежа имени существительного (см. образец выполнения 1).


Переведите предложения на русский язык.

1.  The Ukrainian Liberal Youth party is attempting to make politics appealing to Ukraine’s youth.

2.  Many research institutes were founded in Kyiv.

3.  The monument to Bogdan Khmelnitsky stands in the square opposite to the Sophia Cathedral.

II.  Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным (см. образец выполнения 2).

1.  The reporter spoke about the fulfilment of the Food Programme in Ukraine.

2.  The famous Kyiv Shevchenko Opera and Ballet Theatre has one of the best opera and ballet companies in the country.

3.  Not long ago some families moved into large three-room flats.

III.  Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.

1.  The more I learnt the English language, the more I liked it.

2.  The Kreshchatik is one of the widest and most beautiful streets in Kyiv.

3.  Your translation is better than mine.

IV.  Перепишите и письменно переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1.  Any monument in Kyiv has its own history.

2.  No one ever told me that before.

3.  Some five hundred people were present at the meeting.

V.  Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык (см. образец выполнения 3).

1.  The dean will come here later.

2.  The student made no mistakes in his translation.

3.  The capital of Ukraine is in itself a huge monument.

VI.  Прочитайте и устно переведите на русский язык с 1-го по 6-й абзацы текста. Перепишите и письменно переведите их.

Kyiv

1.  Approximately two-thirds of Ukraine’s 52 million population live in cities. The capital, Kyiv lies in the north central region of Ukraine. It is based around the river Dnieper and with 2.6 million inhabitants is the largest of all Ukraine’s cities.

2.  Kyiv is not only the capital of Ukraine but it was also the original «mother city» of Russia. The city originated as a fortress built by Kyiv’s legendary founder, Kyi, to protect the site from raids by the wandering nomads of the steppes.

3.  Later Kyiv became a major trading center linking the Black Sea region in the south with nations and cities in northern Europe. Kyiv was the seat of the earliest states ruled by princes, or principialities in addition to being an important religious hub.

4.  However, Kyiv has had a history of invasion, occupation and Empirical rule. The Tatars of central Asia overran and destroyed the city in the 13th century. After the Tatars retreated from Eastern Europe a century later, Kyiv became the possession of Lithuania. In the 17th century the city fell under the rule of the Russian Empire where it was to stay until the revolution in 1917.

5.  During World War II the city was extensively damaged. In spite of this many of Kyiv’s beautiful historic churches and public buildings have survived to this day.

6.  For example Orthodox services are still held in St. Andrew’s church, an 18th century masterpiece in the Podol region. Designed by the Italian architect Bartolomeo Rastrelli the church stands on the highest point of the oldest part of Kyiv commanding a wonderful view of the river Dnieper.

7.  The modern centre and the remains of the old city are both on the hilly west bank of the River Dnieper. This 5 kilometre strip of extremely green hills covered with trees and parks is one of the most distinctive areas of Kyiv. People have always travelled to Kyiv for their holidays because of its greenery and beauty. They will continue to do so for a very long time into the future.

VII.  Прочитайте 7-й абзац текста и письменно ответьте на вопрос:


What is one of the most distinctive areas of Kyiv?

Вариант 4
I.  Перепишите следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -s, и какую функцию это окончание выполняет, т.е. служит ли оно:

а) показателем 3-го лица единственного числа глагола в Present Indefinite;

б) признаком множественного числа имени существительного;

в) показателем притяжательного падежа имени существительного (см. образец выполнения 1).


Переведите предложения на русский язык.

1.  The Ukrainian Liberal Youth party aims to create conditions for young people to realize their own potential.

2.  This has the aim of a free exchange of ideas.

3.  Let’s hope more people follow the  example set by the Ukrainian Liberal Youth party and attempt to reach Ukraine’s youth.

II.  Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным (см. образец выполнения 2).

1.  The Ivan Franko University was founded in 1661 and named after the famous Ukrainian writer.

2.  For many years Academician Boris Paton headed the Electric Welding Institute and in 1990 he was elected the President of the Ukrainian Academy of Sciences.

3.  Have you any laboratory experience?

III.  Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.

1.  The more experiments we carry out, the more data we obtain.

2.  They say the climate in Ukraine like anywhere else is getting milder with every coming year.

3.  The coldest month is January and the warmest months are July and August.

IV.  Перепишите и письменно переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1.  No one knew anything about this experiment. 

2.  The names of some streets and squares are the living history of Kyiv.

3.  Have you any news?

V.  Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык (см. образец выполнения 3).

1.  The Ukrainians like other nations have many traditions and holidays.

2.  The holiday of the New Year Day is the most wonderful for all the children as well as for grown-ups.

3.  Pavlo Zagrebelny surprised the literary world with the novel «Dive» (1969).

VI.  Прочитайте и  переведите на русский язык с 1-го по 4-й абзацы текста. Перепишите и письменно переведите 2, 3 и 4-й абзацы.


Kyiv Shevchenko University: Continuity of Tradition

1.  Universities, like cathedrals and parliaments, are a product of the Middle Ages. In Ukraine the first educational establishment that had all the features of basic education was founded in the 17th century. The Kyiv Mohylyanska Academy was a precursor of the modern Kyiv Taras Shevchenko National University. It was then that all the basic principles of instruction with which we are most familiar, represented by faculties and colleges and courses of training, examinations and academic degrees, sprang up. But still the contrast between that early university and the one of today is broad and striking.

2.  The Kyiv Shevchenko University is an embodiment of continuity, it upholds traditions and at the same time blazes new paths of progressive development. There are many universities to be found now in Kyiv and Ukraine but only one of them has such a long history of continuous development. The Kyiv National University bears the name of Taras Shevchenko, a pivotal figure in the Ukrainian culture of the 19th century, whose contribution to stirring up the awareness among the Ukrainians of their Ukrainian identity has only begun to be appreciated in full measure.

3.  The Kyiv Mohylyanska Academy as an institution was eventually built. It was Kyiv University which started functioning in 1834. The list of prominent scientists and scholars, who were members of the faculty or graduates, is a long one indeed. They provided solid grounds for culture and science of the present-day Ukraine.
4.  The Kyiv Shevchenko National University trains students and carries on research like any other major modern university. But one could say that Kyiv University enjoys a special status among other educational establishments in Ukraine. It is one of the biggest in number of students and members of the faculty. It is the traditions, excellent training and very high qualification of the faculty staff that make it a truly national university of Ukraine.

5.  Kyiv University is made up of many schools and departments, among them those of Biology, Geography, Geology, Economics, Foreign Philology, History, Cybernetics, Mechanics and Mathematics, Radiophysics, Sociology and Psychology, Physics, Philology, Philosophy, Chemistry, Law. Within the structure of Kyiv University one also finds a zoology museum, botanical gardens, Institutes of Journalism, of International Relations and of Ukrainian Studies, a computer centre, libraries, departments of military training and many others. The Kyiv Shevchenko University maintains partnership relations with many universities around the world and keeps abreast of the latest advances in sciences and liberal arts. Ukraine is facing many problems and graduates of Kyiv University help solve them. The University, in spite of economic hardships, has managed to maintain high standards of training  and research. Kyiv University is striving, as it has always been, to provide a truly universal education and training.

VII.  Прочитайте 5-й абзац текста и письменно ответьте на вопрос:


What has the University to maintain?

Вариант 5

I.  Перепишите следующие предложения. Определите по грамматическим признакам, какой частью речи являются слова, оформленные окончанием -s, и какую функцию это окончание выполняет, т.е. служит ли оно:

а) показателем 3-го лица единственного числа глагола в Present Indefinite;

б) признаком множественного числа имени существительного;

в) показателем притяжательного падежа имени существительного (см. образец выполнения 1).


Переведите предложения на русский язык.

1.  Ukraine’s main seaport is Odessa, which lies on the north-west coast of the Black sea.

2.  Everybody gets two days off work for May Day on the first of May.

3.  One of the most exciting holidays for families is Easter.

II.  Перепишите следующие предложения и переведите их, обращая внимание на особенности перевода на русский язык определений, выраженных именем существительным (см. образец выполнения 2).

1.  We have a large State library in our city.

2.  Independent Language Schools are becoming more common now in Kyiv.

3.  The city authorities encourage entrepreneurship and private business and create opportunities for investments.

III.  Перепишите следующие предложения, содержащие разные формы сравнения, и переведите их на русский язык.

1.  The south of Ukraine enjoys longer spring and summer periods in the steppe regions.

2.  Perhaps the most striking feature of the Ukrainian climate is its diversity and impredictability.

3.  The more often you visit Kharkiv, the more you like it.

IV.  Перепишите и письменно переведите предложения на русский язык, обращая внимание на перевод неопределенных и отрицательных местоимений.

1.  Almost any building in Kyiv is attractive.

2.  There are some educational establishments there.

3.  No substance is a perfect insulator.

V.  Перепишите следующие предложения, определите в них видо-временные формы глаголов и укажите их инфинитив; переведите предложения на русский язык (см. образец выполнения 3).

1.  Disharmony is death, harmony is eternal.

2.  The Pechersk Lavra became the most characteristic manifestation of the Ukrainian Baroque and Rococo styles.

3.  Intours-Kyiv provides tourist services for guests and participants of international conferences, exhibitions, festivals, etc.

VI.  Прочитайте и устно переведите на русский язык с 1-го по 4-й абзацы текста. Перепишите и письменно переведите 1, 2,  и 3-й абзацы.

Some Outstanding Historical and Cultural Places of Ukraine
1. Nowadays tourism is very popular with people. No matter where you find yourself, in a big-city or in a small town, there you are sure to find something of interest to you from the point of view of history and culture. In this respect the most interesting cities are Kyiv, Lviv, Kharkiv, Donetsk and many others. What unites them is ancient cathedrals, churches, towers, universities, museums, monuments, wonderful streets and squares.

2. Kyiv is one of the oldest cities in Eastern Europe. In the centre of the city there is the Cathedral of St. Sophia, built in honour of the victory over Pechenegs. Opposite the cathedral there is the Cathedral’s library, containing many books. Among them there is a very valuable book, written Jaroslav’s hand. Another place of interest in Kyiv is Bogdan Khmelnitsky square, in the centre of  which there is a monument to Bogdan Khmelnitsky, a national hero of Ukraine. There are many museums in the city of Russian art, Ukrainian art, Western art; the Museum of History of the Great Patriotic War and others.

3. East of Kyiv is Kharkiv with a population of 3 million. Kharkiv is a city which was settled by the brotherhood of Cossacks in the 17th century and now  it’s the country’s chief industrial city. This is mostly due to the fact that Kharkiv rests near vast fields of coal and iron ore. In addition to this it is a lively cultural and literary centre with a long tradition of opera, theatre and music.

4. The capital of the Donetsk province, Donetsk is part of an extensive mining and industrial region known as the Donbas that lies along the Dnieper and Donetsk rivers.

5. Lviv is the principal city in the west of Ukraine, named after Lev Romanovych, the son of its founder, King Danylo Romanovich. A population of 800.000 lead their lives within a city of narrow cobblestone streets and ancient buildings. The Ivan Franko University was founded in 1661 and named after the famous Ukrainian writer. Today it is one of the oldest universities in Europe. Lviv’s railways and roads link the city to the rest of Europe and help Ukrainian industry to transport its products abroad to foreign markets.


Overall, there are many wonderful places to visit in Ukraine.

VII.  Прочитайте 5-й абзац текста и вопрос к нему. Из приведенных вариантов ответа укажите номер предложения, содержащего правильный ответ на поставленный вопрос.


When was the Ivan Franko University founded?

1.  It was founded in 1660.

2.  It was founded in 1661.

3.  It was founded in 1961.

Контрольное задание 2


Для выполнения задания № 2 необходимо повторить следующие разделы курса английского языка:

1.  Видо-временные формы глагола:

a) действительный залог — формы Indefinite (Present, Past, Future); формы Continuous (Present, Past, Future); формы Perfect (Present, Past, Future);

b) страдательный залог — формы Indefinite (Present, Past, Future).


Особенности перевода пассивных конструкций на русский язык.

2. Простые неличные формы глагола: Participle I (Present Participle), Participle II (Past Participle) в функциях определения и обстоятельства, Gerund — герундий, простые формы.

3. Модальные глаголы can, must, may, should и эквивалентные им конструкции to be able, to have to.

4.Определительные и дополнительные придаточные предложения.


Используйте следующие образцы выполнения упражнений.

Образец выполнения упр. I

1. Many people are now trying to acquire computer literacy to get better job or to use the new technology in their existing job.

Многие люди сейчас пытаются овладеть компьютерной грамот-ностью, чтобы получить луч-шую работу или использовать новую технологию в своей работе

 are trying — Present Continuous Active от глагола to try

2. The programs and data were transferred into the computer memory.

Программы и данные были переведены в память компь-ютера.


were transferred — Past Indefinite Passive от глагола to transfer

3.A person who has completed a course in programming will find an interesting job, depending on skill and experience.

Человек, который закончил курс по программированию, найдет интересную работу в зависимости от своего мас-терства и опыта.


has completed — Present Perfect Active от глагола to complete


will find — Future Indefinite Active от глагола to find



Образец выполнения упр. II

1. The analog computer is used essentially for problems involving measurements.

Аналоговый компьютер обычно используется для решения проблем, связанных с измерениями.

Used — Participle II, составная часть видо-временной формы  Present Indefinite Passive от глагола to use.

Involving — Participle I, определение.

2. The set of instructions, called a program, is prepared by one or more programmers for each job a computer is to do.

Последовательность команд, называющаяся программой, готовится одним или нес-колькими программистами для каждой операции, которую должен выполнить компьютер.

Called — Participle II, определение.


Prepared — Participle II, составная часть видо-временной формы  Present Indefinite Passive от глагола to prepare.

3. Printer is a high-speed machine for printing output from the computer.

Принтер — высокоскоростное устройство для распечатки выходной информации


Printing — герундий.

Образец выполнения упр. III

1. The operator can stop or start the program or make corrections in it.

Оператор может остановить или запустить программу либо сделать в ней ис-правления.

Can — модальный глагол, обозначающий возможность выполнения действия.

2. Since computers have to process vast quantities of data and programs, a lot of storage space is required.

Поскольку компьютерам при-ходится обрабатывать огром-ное количество данных и программ, требуется большой объем памяти.


Have to — модальная конструкция, эквивалентная глаголу must, обозначающая долженствование.

3. Before the computer can do the necessary computations, the number should be converted to machine code.

Прежде чем компьютер сможет выполнить необ-ходимые вычисления, число следует перевести в машин-ный код.

Can — модальный глагол, обозначающий возможность выполнения действия.

Should — модальный глагол, обозначающий долженствование.

Вариант 1

I. Перепишите следующие предложения, подчеркните в каждом из них сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык.

1.  Computers accept information, perform mathematical and logical operations and supply new information.

2.  Computers have already penetrated almost into all spheres of modern economy.

3.  The first computer was built in 1930 but since then computer technology has evolved a great deal.

4.  The second generation of computers was developed in 1960.

II. Перепишите следующие предложения, подчеркните Participle I  и  Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.

1.  Computers are machines designed to process specially prepared pieces of information.

2.  When talking about computers, we must consider both hardware and software.

3.  The analog computer is used for problems involving measurement.

4.  The vast majority of computers nowadays are used for storing, classifying, sorting, cataloguing and retrieving information of all kinds.

III.  Перепишите следующие предложения; подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1.  A computer can do the work of hundreds of people in a very short time.

2.  The programmer has to determine how to solve the problem.

3.  It may take a lot of time to find a solution to a complex problem in programming.

4.  They should test this electronic device tomorrow.

IV.  Прочитайте текст. Перепишите и письменно переведите его, обращая внимание на правильное размещение предложений на русском и английском языке.

Popularity of the Computer


Computers are fast, efficient, and very accurate machines that can do in seconds what would take a person hours, days, or even months. In the last few years, they  have become an important part of our lives. Since the first-generation computers with vacuum tubes were designed and built in the 1940s and 50s, computers have become very sophisticated and complex machines. New advances in technology such as microcircuits and silicon chips have considerably changed the design of the computer. The large, bulky machines that once filled an entire room, today barely fill a desk-top. Just as they have decreased in size, computers have decreased greatly in price.


Computer technology has changed the way we live and it has created problems. Computers have created new ways to commit fraud, and they have posed new ethical problems.


Because of the rapid development and spread of the computer, there are few people whose lives have not been affected by it, at least indirectly. Every day we hear about new uses of the computer. Students are using small, programmable, pocket calculators that they can carry to class, and certainly computers will continue to be used more and more in business, industry, education, and at home.


An important use of computers is in education. It is called computer assisted instruction, or CAI. It is becomming more and more popular at all levels of education from pre-school to university. There are computer toys that teach 3-year-olds how to read and spell. Starting in kindergarten, computers are being used in the classroom to allow students to work without a teacher on subjects ranging from mathematics to reading, and from Spanish to English as a Second Language.


Computer technology is a fast growing field. It has been said that if transport technology had developed as rapidly as computer technology, a trip across the Atlantic Ocean today would take a few seconds.

V.  Ответьте письменно на следующие вопросы к тексту.

1.  When were the first-generation computers designed?

2.  Where are computers efficiently applied nowadays?

3.  What factors have considerably changed the design of the computer?

Вариант 2

I. Перепишите следующие предложения, подчеркните в каждом из них сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык.

1. Computers have changed the way in which many kinds of jobs are done.

2. In the future, microprocessors will be cheaper, and their capacity will be greater.

3. In our country the first electronic digital computer was constructed by the Ukrainian Academician S.A. Lebedev in 1950.

4. Microcomputer software is developing rapidly.

II.  Перепишите следующие предложения, подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.

1.  The computed results were printed in tables.

2.  Discussing the advantages of the new memory unit the professor gave the students all the necessary explanations.

3.  Logical operations performed by a computer are comparing, selecting, sorting and determining.

4.  Many different types of industries are using microcomputers to do their work.

III.  Перепишите следующие предложения, подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1.  Computers can’t process information if complete programs are not put in internal storage.

2.  My friend was happy when at last he was allowed to work at the computing centre.

3.  The programmer must define the problem clearly.

4.  You should visit the computing centre to see the operation of computers.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

What Is a Computer?


A computer is a machine with an intricate network of electronic circuits that operate switches or magnetize tiny metal cores. The basic idea of a computer is that we can make the machine do what we want by inputting signals that turn certain switches on and turn others off, or that magnetize or do not magnetize the cores.


The basic job of computers is the processing of information. Computers can be defined as devices which accept information in the form of instructions called a program and characters called data, perform mathematical or logical operations on the information and then supply results of these operations. The program and the data are kept inside the computer in a place called memory.


Computers have many remarkable powers. However, most computers have three basic capabilities. First, computers have circuits for performing arithmetic operations, such as: addition, subtraction, division, multiplication and exponentiation. Second, computers have a means of communicating with the user. If we couldn’t feed information in and get results back, these machines wouldn’t be of much use. However, certain computers are used to control directly things such as robots, aircraft navigation systems, medical instruments, etc.


Some of the most common methods of inputting information are to use punched cards, magnetic tape, disks, and terminals. The computer’s input device reads the information into the computer. For outputting information, two common devices used are a printer which prints the new information on paper, or a CRT display screen which shows the results on a TV-like screen.


Third, computers have circuits which can make decisions. The computer can decide three things, namely: Is one number less than another? Are two numbers equal? and, Is one number greater than another?


A computer can solve a series of problems and make hundreds, even thousands, of logical decisions without becoming tired or bored. A computer can replace people in dull, routine tasks, but it has no originality; it works according to the instructions given to it and cannot exercise any value judgements. A computer operates like a mechanical `brain`, but its achievements are limited by the minds of human beings. A computer cannot do anything unless a person tells it what to do and gives it the appropriate information.

V.  Ответьте письменно на следующие вопросы к тексту.

1.  What is the basic idea of a computer?

2.  Where are the programs and the data kept?

3.  What basic capabilities do most computers have?

Вариант 3

I. Перепишите следующие предложения, подчеркните в каждом из них сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык.

1.  Not all computers have the same type of memory.

2.  The introduction of terminals and screens has replaced the use of punched cards.

3.  The usual procedure is that information storage is followed by information analysis.

4.  By the 1960s, computers were faster than their predecessors and semiconductors had replaced vacuum tubes.

II.  Перепишите следующие предложения, подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.

1.  An algorithm is a sequence of instructions used to solve a problem.

2.  Computer technology is a fast growing discipline.

3.  Computers nowadays operate quickly and accurately in solving problems.

4.  They are discussing new trends and methods in the field of computer science.

III.  Перепишите следующие предложения, подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1.  A computer can replace people in dull, routine tasks.

2.  Programmers must be able to write programs well and efficiently.

3.  Digits and characters have to be translated by human beings into specially prepared symbols that the machine can accept.

4.  Programmers should have enough practical data processing experience.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Careers in the Field of Data Processing


There  is a wide range of jobs available in the field of data processing, the most common of which are computer operator, programmer, system analyst, and data processing manager.


The computer operator should be a reliable person because the job involves responsibility for very expensive machines. His work is rather routine, like changing tapes and disks, but the operator should be able to cope with emergency situations, if and when they arise. As soon as there is a malfunction in the system, the operator has to recognize it and report it to the manager. The operator’s knowledge is mainly concerned with the hardware and not with the software, but he or she should have interest in programming and should know enough about it to be able to interpret the programmer’s instructions. Often programmers start their careers as computer operators. 


The main tasks of a computer programmer are first, to write programs to solve problems; second, to write them on time as they are needed; and third, to write them clearly so that other programmers can understand them. The career of a programmer can start as a trainee in a data processing department after a course in computer programming. At this stage, he or she is guided and supervised by another programmer. With increasing experience in writing more efficient programs, the trainee is given more responsibility and advances first to the position of a junior programmer and then to that of a senior programmer.


Specifications for the data processing problems are given to the programmer by the systems analyst. The key to this person’s  job is communication, because he or she should be able to interact with the people in the department both verbally and in writing. One of the analyst’s tasks is to analyse problems, outline solutions to them. The other aspect of this job deals with setting the objectives of a project and then finding the best method of achieving them. This involves constant examination of the system, modification of weaknesses in it, or sometimes even changing it to a completely new system.


The key person in a data processing department is its manager. The success of the department depends on his or her capacity as a leader and on his or her technical knowledge. The manager is responsible for communicating with superiors regarding policy-making decisions of the organization. The manager should have enough practical data processing experience to ensure that everybody in the department is working towards the same end. The manager should have an active mind, imagination, tact, and the ability to control others.

V.  Ответьте письменно на следующие вопросы к тексту.

1.  What careers have evolved because of computers and information revolution?

2.  Why is knowledge of programming desirable for a computer operator?

3.  What are the main tasks of a computer programmer?

Вариант 4

I. Перепишите следующие предложения, подчеркните в каждом из них сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык.

1.  Computers have become smaller, faster, and cheaper.

2.  The success or failure of any computer system depends on the skill with which the hardware and software components are selected.

3.  The students are still waiting for their acceptance into the Computer Science program.

4.  What the introduction of the transistor did a number of years ago, the microprocessor is doing now.

II.  Перепишите следующие предложения, подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.

1.  The improved performance of transistors led to the development of minicomputers.

2.  Each instruction has a unique code specifying a particular operation.

3.  Automatized information processing radically modified the method devised. 

4.  Students are using small pocket calculators that they can carry to class.

III.  Перепишите следующие предложения, подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1.  The second-generation computers could perform work ten times faster than their predecessors. 

2.  Information for a digital computer has to be in the form of digits or characters.

3.  The computer operator should be a reliable person because the job involves responsibility for very expensive machines.

4.  An entire large room may be devoted to maxicomputers and their equipment.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

History of Computers


The first real calculating machine appeared in 1820 as the result of several people’s experiments. This type of machine, which saves a great deal of time and reduces the possibility of making mistakes, depends on a series of ten-toothed gear wheels. In 1830 Charles Babbage, an Englishman, designed a machine that was called `The Analytical Engine`. Many of his ideas were the basis for building today’s computers.


In 1930, the first analog computer was built by an American named Vannevar Bush. This device was used in World War II to help aim guns. The first digital computer was completed in 1944. Professor Howard Aiken and some people from IBM were responsible for this invention. This was the first machine that could figure out long lists of mathematical problems at a very fast rate. In  1946 two engineers at the University of Pennsylvania, J. Eckert and J. Mauchly, built the first digital computer using parts called vacuum tubes. Another important advancement in computers came in 1947, when John von Newmann developed the idea of keeping instructions for the computer inside the computer’s memory.


The first generation of computers, which used vacuum tubes, came out in 1950. These computers could perform thousands of calculations per second. In 1960, the second generation of computers was developed. They could perform work ten times faster than their predecessors. Second-generation computers were smaller, faster and more dependable than first-generation computers. The reason for this extra speed was the use of transistors instead of vacuum tubes. The third-generation computers appeared on the market in 1965. These computers could do a million calculations a second. 

Unlike second-generation computers, these are controlled by tiny integrated circuits and are consequently smaller and more dependable. The fourth-generation computers are 50 times faster than their predecessors and can complete approximately 1,000,000 instructions per second. The integrated circuits are greatly reduced in size. This is due to microminiaturization, which means that the circuits are much smaller than before; as many as 1000 tiny circuits now fit onto a single chip.

V.  Ответьте письменно на следующие вопросы к тексту.

1.  When did the first calculating machine appear?

2.  Who invented the first analog computer?

3.  How did the third-generation computers differ from the second-generation machines?

Вариант 5

I. Перепишите следующие предложения, подчеркните в каждом из них сказуемое и определите его видо-временную форму и залог. Переведите предложения на русский язык.

1.  Computers permit people to use their time more effectively.

2.  The first analog computer was used in World War II?

3.  Microfilm is replacing the printer because it is a faster way of storing information.

4.  Computers have decreased man’s workload.

II.  Перепишите следующие предложения, подчеркните Participle I и Participle II и установите функции каждого из них, т.е. укажите, является ли оно определением, обстоятельством или частью глагола-сказуемого. Переведите предложения на русский язык.

1.  The most common programs used in business are those for word processing, database management programs, accounting, graphics, and communications programs.

2.  Automatized information processing radically modified the method devised.

3.  The microcomputer usually consists of several integrated circuit chips, including a microprocessor chip, memory chips, and input/output interface chips.

4.  Computer systems are used for a variety of jobs including train schedules, planning, cargo loading, personnel availability and stock control.

III.  Перепишите следующие предложения, подчеркните в каждом из них модальный глагол или его эквивалент. Переведите предложения на русский язык.

1.  One must know how a computer works in general and what components are involved.

2.  The lecture on automatized information processing was to begin at 9 o`clock.

3.  You should test the results of calculations.

4.  A computer can do the same operation millions of times without stopping.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Computer Capabilities and Limitations


Like all machines, a computer needs to be directed and controlled in order to perform a task successfully. Even the most sophisticated computer must be told what to do. Until the capabilities and the limitations of a computer are recognized, its usefulness cannot be thoroughly understood. 


In the first place, computers are capable of doing repetitive operations. A computer can perform similar operations thousands of times, without becoming bored, tired, or even careless.


Secondly, computers can process information at extremely rapid rates. For example, modern computers can solve certain classes of arithmetic problems millions of times faster than a skilled mathematician.


Thirdly, computers may be programmed to calculate answers to whatever level of accuracy is specified by the programmer. These machines are very accurate and reliable. Because they are man-made machines, they sometimes break down and have to be repaired. However, in most instances when the computer fails, it is due to human error and is not the fault of the computer at all.


In the fourth place, general-purpose computers can be programmed to solve various types of problems because of their flexibility. Computers are so widely used today because almost every big problem can be solved by solving a number of little problems — one after another.


Finally, a computer, unlike a human being, has no intuition. A person may suddenly find the answer to a problem without working out too many of the details, but a computer can only proceed as it has been programmed to.

V.  Ответьте письменно на следующие вопросы к тексту.

1.  What are the main capabilities of computers?

2.  What is the real cause of most computer errors?

3.  Why are computers so widely used today?

Контрольное задание 3


Чтобы правильно выполнить задание 3, необходимо усвоить следующие разделы курса английского языка по рекомендованному учебнику:

1.  Грамматические функции и значения слов that, one, it.

2.  Пассивный залог (The Passive Voice) видо-временных форм Indefinite, Continuous, Perfect.

3.  Функции глаголов to be, to have, to do.

4.  Простые неличные формы глагола. Инфинитив в функции а) подлежащего, б) составной части сказуемого, в) определения, г) обстоятельства цели.

5.  Бессоюзное подчинение в определительных и дополнительных предложениях.


Используйте образцы выполнения упражнений.
Образец выполнения 1 (к упр. I)

The word «ecology» was devised more than a hundred years ago — in 1869.

Слово «экология» было придумано более ста лет назад — в 1869 году.

was devised — Past Indefinite Passive

Today the water supply is being reduced by pollution — from industrial, agricultural and residential uses.

В настоящее время запасы воды сокращаются из-за ее загряз-нения промышленными, сельс-кохозяйственными и бытовыми отходами.

is being reduced — Present Continuous Passive

Образец выполнения 2 (к упр. II)

It is possible extinction of whales that should be cared by everyone.

Именно из-за возможного вымирания китов следует проявить заботу о них.

усилительное it в эмфатической конструкции

It is the process of satisfying our material needs.

Это процесс удовлетворения наших материальных потреб-ностей.

 it — указательное местоимение

One knows consumer goods are not used to manufacture other goods.

Известно, что потребительские товары не используются для производства других товаров.

one — неопределенное местоимение 

Try to eat a lot of fruit and vegetables but only fresh ones.

Старайтесь есть много фруктов и овощей, но только свежих.

ones — заменитель существительного во множественном числе

The performance of the present electric cars does not measure up to that of standard cars.

Эксплуатационные качества современных электрических машин не соответствуют экс-плуатационным качествам типовых машин.

that  — слово-заменитель ранее упомянутого существительного

The laws of nature that must be taken into account are set forth in the physical sciences as well as the biological sciences.

Законы природы, которые должны быть приняты во внимание, объясняются физи-ческими, а также биоло-гическими науками.

that  — относительное местоимение в функции подлежащего

Образец выполнения 3 (к упр. III)

People are the most important part of the environment.

Люди являются самой важной частью окружающей среды.

 to be в форме are — глагол-связка

We are to avoid irreversible changes on our planet.

Мы должны избегать не-обратимых явлений на нашей планете.

to be в форме are — модальный глагол долженствования для выражения необходимости, обусловленной заранее намеченным планом или договоренностью

People who have cars use them for earning their living, for recriation and vacation travel.

Люди, имеющие автомобили, используют их для того, чтобы заработать на жизнь, поехать отдохнуть или путешествовать во время отпуска.

have — смысловой глагол в значении «иметь, обладать»

We have analyzed our decisions and actions concerning environmental problems.

Мы проанализировали наши решения и действия, каса-ющиеся проблем окружающей среды.

have — вспомогательный глагол для образования сложных личных форм

People do a lot to save our environment

Люди много делают для того, чтобы спасти окружающую среду.

do — смысловой глагол

Why do many people remain undisturbed when mining operations scar the earth’s beauty?

Почему многие люди остаются равнодушными к тому, что при разработке полезных иско-паемых нарушается красота земли?

do — вспомогательный глагол

Образец выполнения 4 (к упр. V)

The population and physical wealth of a society must stay at constant levels.

Уровень населения и мате-риальное благосостояние об-щества должны оставаться неизменными.

stay — составная часть глагольного сказуемого

New technologies require a great deal of capital investment to get them going.

Новые технологии требуют больших капиталовложений, которые дадут им возможность дальнейшего применения.

to get — функция определения

Вариант 1

I.  Перепишите предложения, переведите их на русский язык. Укажите в каждом из них видо-временную форму и залог глагола-сказуемого (см. образец 1).

1.  The harmful effects of industrial growth will be controlled by technology.

2.  Scientists are concerned about some of the practical uses to which their theories may be put.

3.  The experiment has been spoken of for quite a long time.

4.  The poisonous mercury compounds were being discharged into the river by a nearby factory.

II.  Перепишите предложения, переведите их на русский язык. Укажите значения слов it, that, one (см. образец 2).

1.  It is the shortage of resources that may affect the quality of our environment and quality of life.

2.  It is evident that the need for water in manufacturing processes tends to increase.

3.  The canals that provide year-round irrigation are never dry.

4.  Continued economic growth and that of population may raise pollution levels.

5.  Find out more about one of the technologies discussed at the conference.

6.  One must conserve natural resources for use by future generations.

III.  Перепишите предложения, переведите их на русский язык. Укажите значения глаголов to be, to have, to do (см. образец 3).

1.  Your local environment is part of a world environmental system.

2.  Sunlight is needed for photosynthesis, the food-making process in green plants.

3.  Why do city dwellers continue to permit factories to dump industrial wastes into rivers?

4.  We know the problem better than you do.

5.  Perhaps you have wondered why so many people take the environment for granted.

6.  We will have to consider the consequences of human activities upon the quality of our environment.

IV.  Перепишите предложения, переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1.  A number of laws the government has passed help to reduce air pollution.

2.  We know water is a colourless, ordorless, tasteless liquid that is transparant.

V.  Перепишите предложения, переведите их на русский язык. Укажите функцию инфинитива (см. образец 4).

1.  New technologies will be needed to supply resources and to fight pollution.

2.  Ecology is what everybody on the planet must start thinking about.

3.  Another important factor to have been referred to was that of our social responsibility.

4.  To protect environment is a task requiring the joint efforts of the entire world population, of government agencies, and public organizations the world over.

VI.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

The Impact of Technology


From the food you buy in the supermarket to the light and heat in your home, most of the things you depend upon for a comfortable life owe their existence to modern technology.


But technological advances seldom, if ever, create benefits without also causing some ill effects. For example, the technology used to put humans on the Moon has been incorporated into a new generation of missiles and tools of war. The pesticides that have increased food crops have also polluted bodies of water.


Modern transportation, which has tied city to town, and country to country, has also bred unwanted side effects. It has been accompanied by air pollution, destruction of rural environments, traffic jams, noise, and much greater dependency on nonrenewable reasons. Assembly line techniques have made factory production more efficient and consumer goods more plentiful. But these techniques have also brought about worker boredom and environmental pollution as the factory system became common.


So, in deciding whether new technologies will solve our present problems, we have to wonder constantly what future problems these technologies will themselves create. Each new technology has its cost as well as the benefit. The cost may be monetary, environmental, or social — or all three. We must find the ways to avoid risks inherent in each new technology. For every technological advance, people change their natural environment in some way. There are some risks in such changes. It is not always possible to forcast  the risks. If so, how can the risks be kept to a minimum?

VII.  Ответьте письменно на следующие вопросы к тексту:

1.  What do we owe to for a  comfortable life?

2.  What effects has modern technology created?

3.  What may the cost of new technologies be?

Вариант 2


I.  Перепишите предложения, переведите их на русский язык. Укажите в каждом из них видо-временную форму и залог глагола-сказуемого (см. образец 1).

1.  Today science is believed by many people to overcome most if not all human problems.

2.  Unfortunately, the environment has sometimes been defined incorrectly as «everything except you».

3.  Each year new mineral products are being developed and introduced round the world.

4.  Pollution, population, food consumption and industrial production have all been growing exponentially for centuries.

II.  Перепишите предложения, переведите их на русский язык. Укажите значения слов it, that, one (см. образец 2).

1.  Long after the discovery of electricity man found that he could use the great power of water to produce it.

2.  It is the science of ecology that investigates how living things and their environment are interdependent.

3.  The rates of changes that affected human life in the past were very slow compared with those about to take place.

4.  New technologies that people argue about cannot reduce the environmental hazards of continued industrial growth.

5.  The problem of having enough resources is a complex one.

6.  Nearly three-fourths of the earth’s surface is one big ocean in which the continents are the large islands. 

III.  Перепишите предложения, переведите их на русский язык. Укажите значения глаголов to be, to have, to do (см. образец 3).

1.  Water is one of the few materials which expands when it freezes.

2.  The construction companies were to receive related construction contracts.

3.  Many rivers throughout the world have become polluted from the dumping of garbage and other city wastes.

4.  If water from the polluted rivers is to be used for drinking, the water must have extensive treatment to make it safe.

5.  Scientists do pass numerous laws forbidding the misuse or overrunning of private property.

6.  Do the conservationists pay enough attention to the town and city environments?

IV.  Перепишите предложения, переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1.  Poisonous fumes from automobiles, factories, homes we let to pour into the air pollute it.

2.  Many decisions every family makes affect the environment.

V.  Перепишите предложения, переведите их на русский язык. Укажите функцию инфинитива (см. образец 4).

1.  To understand the changes now taking place in the world environmental system, it is helpful to apply some concepts.

2.  Is there a limit in the amount of noise to which human beings can adapt?

3.  For enough electric power to be available in the future other factories would have to grow greatly.

4.  To live in harmony with nature is to observe its laws.

VI.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Is the Storehouse Emptying?


The importance of minerals in the development of civilization can be seen from such expressions as «the Stone Age», «the Bronze Age», «the Iron Age», and the «Nuclear Age». We should be aware that bronze has not taken the place of stone nor has the atom taken the place of iron. On the contrary, today we are using not only stone, bronze, and iron, but also uranium and more than a hundred other mineral products. Each year, as industry expands, new mineral products are being developed and introduced round the world.


All these minerals — as well as the fossil fuels — are nonrenewable natural resources. That is, they appear as deposits in the earth in fixed amounts.


The deposits have to be discovered and mined before they can be used. And once used up, a deposite is gone forever from the earth — at least, for all practical purposes, because the rate of use of these deposits is so much faster than their rate of formation. These deposits have been formed by natural processes that have taken over millions of years. You can plant a tree, and therefore wood is a renewable resource. But you cannot plant a coal deposit. 


Obviously, the faster we use nonrenewable resources, the more rapidly the total supply diminishes. We must ask, therefore: Will we continue to have enough of these resources for use in our industries? Or will the rising demand for these resources outstrip the supply in the coming decades?

VII.  Ответьте письменно на следующие вопросы к тексту:

1.  What mineral products do we use today?

2.  Why are the minerals called the nonrenewable natural resources?

3.  How have the deposits been formed?

Вариант 3


I.  Перепишите предложения, переведите их на русский язык. Укажите в каждом из них видо-временную форму и залог глагола-сказуемого (см. образец 1).

1.  It was stated at the conference that our lives had been improved by the use of science for practical purposes.

2.  A lot of chemicals developed by our industry are being added to our waterways each year.

3.  The life span of people in even the poorest countries has been lengthened owing to medical technology.

4.  What attempts are now being made to mine minerals found on the sea bottom?

II.  Перепишите предложения, переведите их на русский язык. Укажите значения слов it, that, one (см. образец 2).

1.  The Earth is our home. We must take care of it.

2.  It is the quality and quantity of water that must be conserved throughout the world.

3.  The greenhouse effect is noticeable in the warmer temperatures that we have experienced over the last two decades.

4.  Manufactured products can affect the environment in ways that are not foreseen.

5.  Small cars are generally more fuel-efficient than larger ones.

6.  The earth has physical limits which one is usually not aware of.

III.  Перепишите предложения, переведите их на русский язык. Укажите значения глаголов to be, to have, to do (см. образец 3).

1.  Environmentalists may be in opposition to commercial interests of big corporations.

2.  The climate on earth is unique among all the planets in our solar system in that it allows water to exist in all three states: solid, liquid and gas.

3.  The land surface of the ocean has extremely high mountains and deep valleys.

4.  The historical development of urbanization and industrialization has produced geographical regions where the natural balance is disturbed.

5.  When people do not take in enough calories they usually suffer from a lack of protein.

6.  Many scientists warn that the chemicals in spray cans do add to the destroying of the Earth’s ozone layer.

IV.  Перепишите предложения, переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1. The extent of harm the major human activities threaten the quality and quantity of the world’s water supply must be carefully studied.

2. Some people point out there are environmental problems technology cannot solve.

V.  Перепишите предложения, переведите их на русский язык. Укажите функцию инфинитива (см. образец 4).

1.  Scientists have developed a huge variety of new materials to be used in industry.

2.  People eat food daily to get the calories that provide energy for survival and work.

3.  Human decisions can affect the quality of the environment.

4.  To dump sewage and other wastes onto land and into water means to harm the environment.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

The Role of Technology


The advance of technology makes it very difficult to calculate the possible shortage in the world’s supply of minerals and fossil fuels. For scientists have now discovered the «alphabet» of materials. We know that all materials are made of certain fundamental particles — electrons, protons, and neutrons. It is different arrangements and numbers of these particles that give materials their different characteristics.


With this knowledge, we have been able to develop a huge variety of new materials. Take plastics, for instance. It has been estimated that properly developed plastics have been replacing a wide range of metals. One unit of plastic (by weight) can now replace nearly nine units of steel, seven of copper, six of zinc, and three of aluminium. In some of the latest aircrafts, for instance, hundreds of pounds have been saved by doubling the amount of plastics on the exterior skin of the plane. The percentage of plastics in automobiles is also rising steadily. Plastics are even helping to form the roads the automobiles travel on.


A humble substance like graphite has been made into industrial diamonds. The structures of graphite, an opaque, grey-black substance, and a diamond, which is transparent and the hardest substance known are different. By sufficiently pushing or prodding and rearranging the fundamental particles that make up lead, can we come up with bright gold? If the alchemists are right and everything can ultimately be made with anything, then ‘planet eating’ may not be so dangerous. There is a great deal of it to eat!

VII.  Ответьте письменно на следующие вопросы к тексту:

1.  Who has discovered the ‘alphabet’ of materials?

2.  What do different characteristics of materials depend upon?

3.  What can be replaced by properly developed plastics?

Вариант 4


I.  Перепишите предложения, переведите их на русский язык. Укажите в каждом из них видо-временную форму и залог глагола-сказуемого (см. образец 1).

1.  We know many steps are being taken to keep our air, water and public land safe.

2.  Unlimited fishing and hunting have been causing many species of fish and water mammals to die out.

3.  Some scientists warn that a different approach to controlling automobile pollution is needed.

4.  The problem of air pollution is a big one and it will be solved step by step.

II.  Перепишите предложения, переведите их на русский язык. Укажите значения слов it, that, one (см. образец 2).

1.  It is on the basis of an ethical attitude that we can solve the problems which threaten the world today.

2.  It takes enourmous amounts of oil to operate modern farm machinery, run irrigation pumps and produce fertilizers.

3.  The  plan of an English house differs from that of the houses where we live.

4.  Pollution includes any by-products of human activities that harm the environment.

5.  One must know that pollution can take many forms.

6.  The program to plant trees along the down-town boulevards is one aspect of the mayor’s plan for the greening of the city.

III.  Перепишите предложения, переведите их на русский язык. Укажите значения глаголов to be, to have, to do (см. образец 3).

1.  The major environmental threat to life on Earth is the weakening of the ozone layer.

2.  The proposed nuclear power station was to lie within a small town  on the shore of the lake.

3.  An Englishman likes to have a garden around his home separating one house from another.

4.  Science and technology have changed life unrecognizably.

5.  A lot of people in Ukraine do criticize increasing air pollution.

6.  Don’t you know that the faster we use nonrenewable resources the more rapidly the total supply diminishes?

IV.  Перепишите предложения, переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1.  The people of ancient times had many problems we have today and they sometimes solved them in much the same way.

2.  Researchers say new technologies can be developed that will reduce the pollution from production processes.

V.  Перепишите предложения, переведите их на русский язык. Укажите функцию инфинитива (см. образец 4).

1.  There are a lot of places of interest to see.

2.  Twenty times more energy is required to extract aluminium from its ore than to extract iron from its ore.

3.  To travel in cars is more comfortable.

4.  Any study of the environment must investigate the role of human beings in causing environmental changes.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

An Environment Fit for People


In industrialized countries more people are living more comfortably, more securely, and for a longer time than ever before in history. We have made spectacular gains in our ways of producing both the needs and the luxuries of life. But these advances are being made at the cost of increasing deterioration of our environment, pollution of its air and water, loss of living space and crowding, and threats to nature in the wild.


A concern for keeping the world fit place for people is the basis for the movement known as conservation.


Early conservationists paid little attention to the town and city environments where people were concentrated. They were concerned chiefly with threats to the natural environment — to wildlife and fisheries, forests and rangelands, soils and river basins, the minerals and fuels needed for human use. These early conservationists recognized that the natural world upon which people depend was being used for economic growth with no thought for tomorrow. The world seemed huge, with its resources untapped, and with room for many kinds of people and ways of life.


But today the world seems small. It has shrunk because of the transportation networks over which people and goods move in great speed and volume. It has shrunk because of the rapid growth of its population. Pollution spreads everywhere. In cities especially, the quality of human life threatens to decline. The old problems remain, and the new ones are becoming more acute. The conservation movement has therefore shifted its focus.


The goal of conservation is now rational use of the environment to achieve the highest quality of life for all people.

VII.  Ответьте письменно на следующие вопросы к тексту:

1.  What is the cost of the advances of our present life?

2.  What is the goal for the movement known as conservation?

3.  What does the quality of people’s life depend upon?

Вариант 5


I.  Перепишите предложения, переведите их на русский язык. Укажите в каждом из них видо-временную форму и залог глагола-сказуемого (см. образец 1).


1.  When conventional fuels — such as wood, coal, oil or gas — are burned, their energy is used up and cannot be renewed.

2.  So far, only limited mining of ocean minerals has been undertaken. 

3.  Harmful chemicals are now being released into the atmosphere by mankind.

4.  One rarely wonders whether the raw materials to produce our goods will ever be used up.

II.  Перепишите предложения, переведите их на русский язык. Укажите значения слов it, that, one (см. образец 2).

1.  It is iron and aluminium that are used in most types of consumer goods.

2.  It is proved that changes taking place in our immediate environment affect  our lives.

3.  Deforestation leads to climatic and environmental changes that sometimes cause rich agricultural regions to become desert wastelands.

4.  Scientists are realizing more and more clearly the indisputable, fact that their social responsibility should grow.

5.  One of the central causes of the ecological crisis is a consumer’s attitude to nature.

6.  One should remember that the rate of use of the deposits is so much faster than their rate of formation.

III.  Перепишите предложения, переведите их на русский язык. Укажите значения глаголов to be, to have, to do (см. образец 3).

1.  The present civilization is on the eve of the third millenium of our era.

2.  The life-giving sun is becoming dangerous due to a weakend ozone layer.

3.  Science and technology have changed life unrecognizably.

4.  All large cities have the problems of transport.

5.  When do you think life is more comfortable, pleasant and exciting — in A.D. 1000 or A.D. 2100? (A. D. — Anno Domini — (лат.) нашей эры).

6.  We do not tend to think of our environment as something separate from ourselves.

IV.  Перепишите предложения, переведите их на русский язык, обращая внимание на бессоюзное подчинение.

1.  Bodies of water people use for drinking can be polluted by radioactive and other industrial wastes.

2.  The methods the scientists have proposed for solving our environmental problems are very effective.

V.  Перепишите предложения, переведите их на русский язык. Укажите функцию инфинитива (см. образец 4).

1.  What could encourage people to develop new inventions or new methods?

2.  To propose many methods was necessary.

3.  The earth is a closed physical system, limited in its capacity to support human population.

4.  The task of the scientists is to develop a huge variety of new materials.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

The Chemical Mix


It is not just the wastes from homes that reach bodies of water. Many industries dump their manufacturing wastes directly into bodies of water — or into the sewage systems of cities, which eventually reach bodies of water. As capital investment and industrial production grow, so does the pollution of water by industrial wastes.


Wastes from industry include a huge variety of chemicals. Many, such as arsenic and lead, are known poisons. The danger of other wastes have become known only after disasters. For example, the death of over 100 people in one of the communities brought attention to the danger of certain compounds containing methyl mercury. Mercury in itself is comparatively nonpoisonous because poorly absorbed — unless inhaled as a gas. However, certain methyl mercury compounds used as fungicides are readily absorbed and very poisonous. These poisonous mercury compounds were being discharged into the river by a nearby factory. The compounds became concentrated in fish used for food.


Also, completely new compounds, not found in nature — such as vinyl chloride and other substances used in making plastics — are entering our waters daily. More than 500 chemicals developed by industry are being added to our water ways each year. Without a thorough investigation of each one we can only guess at the short- or long-range effects of these substances upon the environment and upon human health.

VII.  Ответьте письменно на следующие вопросы к тексту:

1.  Which factors does the growth of water pollution by industrial wastes depend on?

2.  Which chemicals do wastes include?

3.  How many chemicals are being added to our waterways each year?

Контрольное задание № 4


Чтобы правильно выполнить задание 4, необходимо усвоить следующие разделы курса английского языка:

1.  Сложные формы инфинитива (Passive Infinitive, Perfect Infinitive). Обороты, равнозначные придаточным предложениям: объектный инфинитивный оборот, субъектный инфинитивный оборот.

2.  Причастия (Participle I, II; Perfect Participle Active, Perfect Participle Passive). Независимый (самостоятельный) причастный оборот.
3.  Условные предложения.

Используйте образцы выполнения упражнений.


Образец выполнения 1 (к упр. I)

1. Copper isn’t light enough to be used in overhead power cables.

Медь недостаточно легкая, чтобы использовать ее в воздушных силовых кабелях.

To be used — Indefinite Infinitive Passive, обстоятельство

2. We know physical changes to be caused by heat energy

Известно, что физические изменения вызываются теп-ловой энергией.

To be caused — Indefinite Infinitive Passive

Physical changes to be caused — объектный инфинитивный оборот

3. The steamboat «Victoria» is reported to have arrived in the port of destination.

Сообщают, что пароход «Виктория» прибыл в порт назначения.

To have arrived — Perfect Infinitive Active

The steamboat «Victoria» ... to have arrived — субъектный инфинитивный оборот.

Образец выполнения 2 (к упр. II)

1. The hot air rising above a radiator is an example of convection.

Горячий воздух, поднимающийся над батареей, является примером конвекции

rising — Participle I, определение

2. Having become the basis of a new field of science known as electronics the electron found a wide application.

Став основой новой области науки — электроники, электрон нашел широкое применение.

Having become — Perfect Participle Active, часть причастного оборота

3. The experiments having been carried out, the scientists started new investigations.

После того, как были проведены опыты, ученые начали новые исследования.

Having been carried out — Perfect Participle Passive

The experiments having been carried out — независимый причастный оборот

Образец выполнения 3 (к упр. III)

1. If we compare different states of matter, we shall easily find out their similarity as well as their differences.

Если мы сравним различные состояния вещества, то легко обнаружим их сходство и различия.

Условное предложение I типа (реальное условие)

2. If there were no loss of energy by friction the motion would continue infinitely.

Если бы не было потери энергии из-за трения, движение продолжалось бы бесконечно.


Условное предложение II типа (маловероятное или нереальное условие, относящееся к настоящему или будущему)

3. If you had followed the instructions given below, the experiment would have been a success.

Если бы вы следовали инструкциям, приведенным ниже, эксперимент прошел бы успешно.


Условное предложение III типа (нереальное условие, относящееся к прошлому)

Вариант 1

I.  Перепишите и письменно переведите на русский язык следующие предложения. Помните, что объектный и субъектный инфинитивные обороты соответствуют придаточным предложениям (см. образец выполнения 1).

1.  French biologist Louis Pasteur suggested deseases to be caused by living things that are too small to be seen.

2.  Uniform composition is said to make the organic material desirable as coating for the steel pipe.
3.  Before a compound is subjected to spectroscopic analysis, it must be separated from other materials.
II.  Перепишите и письменно переведите на русский язык следующие предложения. Обратите внимание на перевод зависимого и независимого (самостоятельного) причастных оборотов (см. образец выполнения 2).

1.  Each instruction having a unique code to specify, a particular operation has been placed in specific sequence by the computer programmer.

2.  Having analysed the result, he compared the data obtained with those available in literature.
3.  They succeeded in obtaining good results working with quicksilver, it being known as a very dangerous metal.
III.  Перепишите и письменно переведите на русский язык следующие сложные предложения. Обратите внимание на перевод условных предложений (см. образец выполнения 3).

1.  If a metal bar is heated, its dimension will increase.

2.  If you placed zinc in dilute hydrochloric acid, it would melt.
3.  If the checking up of the experimental data had not taken so much time, we should have completed our work long ago.
IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Пояснения к тексту

1.  kindling temperature — температура воспламенения

2.  spontaneous combustion — самовозгорание
The Life-Supporting Gases


How long can a human being live without oxygen? What if there were no nitrogen in the air? How important is hydrogen? Three of our most abundant and important elements are the gases oxygen, nitrogen, and hydrogen.


The same substance causes metals to corrode, wood to rot, apples to turn brown, paint to harden, gasoline to burn, and iron to rust. Fire cannot burn without it, and human beings cannot live without it. This substance is oxygen, an essential ingredient in air and water and the most abundant element in the earth’s crust. 


Oxygen is very active chemically, meaning that it readily combines with other substances in a process called oxidation. For example, iron combines with oxygen from the air to produce iron oxide, or rust. Food and water combine with oxygen to form decay. Vegetable oils used in paints combine with oxygen to harden. These are all examples of slow oxidation.


The rapid oxidation of fuels causes combustion, or fire. Sometimes a fire starts spontaneously. If a substance with a low kindling temperature such as newspapers, or grain, is heated in the absence of proper ventilation, oxidation may occur so rapidly that the substance burns into flames. This phenomenon is called spontaneous combustion.


Oxygen is known to be essential to respiration, it is found in the protoplasm of all living organisms. Human beings cannot live more than five minutes without oxygen.

V.  Ответьте письменно на следующие вопросы к тексту:

1.  What substance causes metals to corrode, wood to rot and gasoline to burn?

2.  What will happen if a substance with a low kindling temperature is heated?
3.  What is oxygen essential to?
Вариант 2

I.  Перепишите и письменно переведите на русский язык следующие предложения. Помните, что объектный и субъектный инфинитивные обороты соответствуют придаточным предложениям (см. образец выполнения 1).

1.  The electrodes should be removed from the container and the wires disconnected.

2.  A material is said to be in compression when the forces applied to it tend to squash or squeeze the material.

3.  One cannot expect a complicated problem like that of using solar energy to be solved in a year or so.

II.  Перепишите и письменно переведите на русский язык следующие предложения. Обратите внимание на перевод зависимого и независимого (самостоятельного) причастных оборотов (см. образец выполнения 2).

1.  Today the number of people sharing the benefits of industrialization is much greater and they all tend to use more energy as well.

2.  Having proposed the solar theory of the atom, Bohr gave rise to still greater activity in both theoretical and experimental nuclear physics.

3.  The chief power of a magnet to attract or repel is concentrated at certain poles — located at the ends of a bar magnet — one being known as a north pole and the other as a south pole.

III.  Перепишите и письменно переведите на русский язык следующие сложные предложения. Обратите внимание на перевод условных предложений (см. образец выполнения 3).

1.  If a force is applied to a metal wire which is suspended vertically, the wire will increase in length, according to the magnitude of the force.

2.  If you stretched the copper wire beyond its elastic limit, it would undergo permanent deformation.

3.  He would have got all the necessary equipment, if he had joined the expedition.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Пояснения к тексту

1.  Until — пока ... не

2.  Convection — конвекция

3.  Upward flow of liquid or gas molecules — восходящий поток молекул жидкости или газа

How Heat is Transferred


Heat is the transfer of energy from a warmer body to a cooler body. How does this heat transfer take place?


Conduction is one method of heat transfer taking place when there is a difference in temperature between two objects. For example, if a silver spoon is inserted into a pot of hot tea, the handle of the spoon will immediately become hot. This is because the molecules at the submerged end speed up, which causes the slow-moving molecules at the cold end to move faster. Energy is thus transferred or conducted.


Heat flows from a warmer object to a cooler one until the temperatures are equal. Substances like metals are good conductors because heat transfers readily from one molecule to another. Substances like glass, plastic, and wood act as insulators because their molecules transfer energy so slowly. A vacuum would be an ideal insulator, because it has no molecules to transfer the heat.


Molecules in a fluid transfer heat by convection. Convection is the upward flow of liquid or gas molecules as they are heated from below. As the heat causes the air to expand, is becomes less dense and rises.


Radiation is the third method of heat transfer. All life on the earth is dependent on the radiation of the sun’s heat and light energy. We know the electromagnetic rays carrying warmth and light to the earth to be invisible and without heat. But when the rays reach the earth, they light the atmosphere and warm our world.

V.  Ответьте письменно на следующие вопросы к тексту:

1.  When does conduction take place?

2.  What is convection?

3.  What happens when electromagnetic rays reach the earth?

Вариант 3

I.  Перепишите и письменно переведите на русский язык следующие предложения. Помните, что объектный и субъектный инфинитивные обороты соответствуют придаточным предложениям (см. образец выполнения 1).

1.  Since mercury freezes at about -390C, a mercury thermometer cannot be used below this temperature.

2.  Air is said to be saturated with water vapor when it contains the maximum amount that will evaporate at a given temperature.

3.  On close examination of a piece of granite the scientists found it to be composed of several kinds of minerals.

II.  Перепишите и письменно переведите на русский язык следующие предложения. Обратите внимание на перевод зависимого и независимого (самостоятельного) причастных оборотов (см. образец выполнения 2).

1.  A number indicating the degree to which air is saturated with water vapor is relative humidity.

2.  Having discovered rich deposits of iron ore they began to build a blast furnace.

3.  The evaporation of seawater is responsible for most of the water vapor in the atmosphere, the rest coming from the evaporation of water from lakes, rivers, soil and vegetation.

III.  Перепишите и письменно переведите на русский язык следующие сложные предложения. Обратите внимание на перевод условных предложений (см. образец выполнения 3).

1.  If a test tube of hydrogen is ignited, it will explode because hydrogen is extremely inflammable.

2.  If a piece of glass were heated and then cooled quickly it would probably shatter.

3.  If an extremely large force had not bent the bar of steel, it would not have fractured.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Пояснения к тексту

frequency —частота

mixing of wavelengths — смешение длин волн

X-rays — рентгеновские лучи

recombined — снова объединились

The Nature of Color


Why is the sky blue and the grass green? Why isn’t the sky green and the grass blue? And why is a rose red instead of purple? What we see as color is the way our brains respond to the different wavelengths of light.


Light is a form of electromagnetic energy travelling very quickly on different frequencies, or wavelengths, which we see as different colors. For example, a wavelength of 400 nanometers (nm) causes us to see violet. A wavelength of 660 nm causes us to see red. The color brown is induced by the mixing of wavelengths. Yellow can be produced by either its own wavelength or a mixture of the wavelengths for red and green.


White light is known to result from a mixing of the wavelengths of all colors. Sir Isaac Newton discovered that when sunlight passed through a glass prism, the white light dispersed into a spectrum of colored light. Newton then allowed the spectrum to pass through a second prism and the colors recombined, producing a beam of white light.


This simple example demonstrated that white light contains all the colors of the spectrum. A beautiful example of this occurs when sunlight falls on drops of water in the air after a rain. The beam of white sunlight spatters into a rainbow of colors.


Certain colors are invisible to human eyes. Wavelength shorter than that of violet produce ultraviolet light that can damage skin cells. Wavelengths longer than that of the color red produce infrared light, radio waves, X-rays, and gamma-rays. We cannot see colors produced by these wavelengths, but we can measure and use their energy.

V.  Ответьте письменно на следующие вопросы к тексту:

1.  What does white color result from?

2.  What wavelength causes us to see red?

3.  What do wavelengths longer than that of the color red produce?

Вариант 4

I.  Перепишите и письменно переведите на русский язык следующие предложения. Помните, что объектный и субъектный инфинитивные обороты соответствуют придаточным предложениям (см. образец выполнения 1).

1.  Audio current through the coil varies the magnetic flux and causes the disk to vibrate and produce sound.

2.  Organic chemistry is known to be defined as the chemistry of compounds containing carbons.

3.  Measurements are made with different light source for each element to be determined.

II.  Перепишите и письменно переведите на русский язык следующие предложения. Обратите внимание на перевод зависимого и независимого (самостоятельного) причастных оборотов (см. образец выполнения 2).

1.  The atoms and molecules constantly hitting the walls of the gas container exert pressure on the walls.

2.  Having obtained the results of the test he plotted them in the diagram.

3.  The atomic bomb explosion may blow a hole in the ocean a mile in diameter, the size depending on the amount of plutonium used in the bomb.

III.  Перепишите и письменно переведите на русский язык следующие сложные предложения. Обратите внимание на перевод условных предложений (см. образец выполнения 3).

1.  If the stress is less than the elastic limit, the wire will return to its original length.

2.  If we were to study such transformations, we should find that a definite quantity of energy of one kind always gives an equivalent quantity of another.

3.  If we had informed proper agencies interested in designing such equipment, we should have received the necessary assistance.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Пояснения к тексту

lodestone — магнитный железняк

domian — домен

The Magic of a Magnet


Magnetism, named for the ancient Greek town of Magnesia, is a force of nature that manifests itself differently in different materials. Although every substance is magnetic to some degree, magnetic effects are much more powerful with iron and steel than with materials such as wood, rubber, copper and glass.


If you have ever played with two magnets, you know the powerful force with which certain ends are drawn toward each other and other ends push away from each other across space. The magnets’ two north poles repel each other and their two south poles attract each other. 


Physicists have always been intrigued by the fact that when a magnet is cut in half, two new magnets are formed, each with a north and south poles. If we were to cut these two magnets, we would have four magnets, each with a north and south pole. The north pole cannot be isolated from the south pole. Magnetic poles never exist alone. Around the year 1100, the Chinese discovered that if a splinter of lodestone were suspended from a thread, it would pivot and point north and south, thus making a very accurate compass.


When viewed under an electron microscope, a piece of iron can be seen to be made up of many tiny magnetic areas called domians. When these domains are orderly arranged, the iron is magnetized. When these domains are randomly arranged, the iron will not act as a magnet. This explains why a magnet will pick up unmagnetized pieces of metal such as a steel paper clip. The force of the magnet causes all the tiny magnetic domains of the paper clip to align themselves. Then the north pole of the paper clip is attracted to the south pole of the magnet, and the south pole of the paper clip is attracted to the north pole of the magnet.

V.  Ответьте письменно на следующие вопросы к тексту:

1.  What substances are magnetic effects more powerful with?

2.  What happens when a magnet is cut in half?

3.  When is the iron magnetized?

Вариант 5

I.  Перепишите и письменно переведите на русский язык следующие предложения. Помните, что объектный и субъектный инфинитивные обороты соответствуют придаточным предложениям (см. образец выполнения 1).

1.  Uranus was found quite by accident in 1781 by the great English astronomer William Herschell. Herschell suspected Uranus to be a planet because, through the telescope, it appeared as a disk rather than as a point of light.

2.  Jupiter’s interior is believed to be very hot, about 500,000oC according to some estimates, but not hot enough for nuclear reactions to occur in its hydrogen content.

3.  Many lives could be saved if natural phenomena such as earthquakes and hurricanes could be predicted.

II.  Перепишите и письменно переведите на русский язык следующие предложения. Обратите внимание на перевод зависимого и независимого (самостоятельного) причастных оборотов (см. образец выполнения 2).

1.  Sounding balloons* penetraiting the earth with instruments of various kinds and sending down data are filled with hydrogen or helium.

2.  Having discovered rays of an unknown nature emitted spontaneously by uranium salts, physicist Henry Becquerel reported his finding to the French Academy of Sciences.

3.  Electron’s speed and versatility has helped man to make a great number of electronic instruments and devices, the electronic amplifier being the most important of them.

balloons* — шары-зонды

III.  Перепишите и письменно переведите на русский язык следующие сложные предложения. Обратите внимание на перевод условных предложений (см. образец выполнения 3).

1.  If we continue to burn fossil fuels, the level of carbon dioxide in the air may increase to the point where it will blanket the earth and cause it to warm to a dangerous level.

2.  Some stars are so far away that if they were to blow up today, their light would continue to be seen from the earth for a million years.

3.  If the house had been provided with a lightning conductor, lightning would not have struck it.

IV.  Прочитайте текст. Перепишите и письменно переведите его, правильно разместив предложения на русском и английском языке.

Пояснения к тексту

the force of gravity — сила тяжести

solar eclipse — солнечное затмение

temporarily blotting out the sun’s light — временно закрывая солнечный свет

The Moon: A Nice Place to Visit?


We know of course the moon to be a very hostile environment for human beings. The moon is completely avoid of water because the force of gravity on the moon is much less than on the earth. The lack of a strong gravitational pull has caused any water the moon may have had to leak out into space over 4.6 billion years that it has been in existence.


There is no air on the moon because its gravity is insufficient to retain an atmosphere. Accordingly, travellers to the moon require not only oxygen and water but also protection against cosmic rays that are unfiltered by an atmosphere. No atmosphere also means no weather — no wind, no rain, no clouds.


Temperatures on the moon are quite extreme, ranging from 110oC to -173oC. This occures because there is no atmosphere to filter the sun’s rays when it is shining and then to blanket in warm air when the sun goes down. These extremes of temperature are particularly striking during a solar eclipse, when the earth passes directly between the sun and the moon, temporarily blotting out the sun’s light. At such times the temperature on the moon dips very rapidly and then rises immediately as the sun emerges from the earth’s shadow. The change in temperature may be as much as 200oC in one hour! This sudden change can cause rocks to shatter due to the expanding and contracting. Thus if you visit the moon deciding what to wear could be a problem. 


There is no twilight or dawn on the moon. Like the earth, the moon does not shine by its own light; it reflects the light of the sun.


There is no sound on the moon. Sound travels on waves of air molecules. Since there is no air, there is nothing to transmit sound.


The moon revolving around the earth once every twenty-nine and half days is a satellite of the earth. The moon itself rotates, but it does so very slowly. Therefore the same side of the moon is always visible to us. To get to the moon, you would have to travel 240,000 miles, a distance that is about the same as circling the earth at the equator ten times.

V.  Ответьте письменно на следующие вопросы к тексту:

1.  Why is the moon completely avoid of water?

2.  When are the extremes of temperature particularly striking on the moon?

3.  How many miles would you have to travel to get to the moon?
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